Wii\]‘*&)i

The tissue which provides support to the baby plant is:

(a) Collenchyma (b) Sclerenchyma
(c) Parenchyma (d) Chlorenchyma
2 The tissue involved in producing turgor pressure is:
(a) Chlorenchyma (b) Parenchyma
(c) Sclerenchyma (d) Collenchyma
3 The cells which are the main source of protection in seed coats and nut shells are:
(a) Vessels (b) Sclereides

c) Tracheid (d) Trachea
PAST PAPER MCQs|

()] The collenchyma and sclerenchyma are with heavily lignified cells present in:

(BWP 2017)
(a) Cortex and Phloem (b) Cortex and Xylem
(c) Xylem and Phloem (d) Pericycle and Cortex
5) Which of the following cells have angular thickening in their primary walls? (SWL 2018)
(a) Collenchyma (b) Sclerenchyma
(c) Fibers (d) Vessels

(6) The cell walls of sclerenchymatous cells are usually impregnated with:
(DGK 2017, LHR 2018, FSD 2017, 2021,)

(a) Silica (b) Pectin
(c) Lignin (d) Suberin
@) Angular thickness in their primary walls are present in: (MTN 2019)
(a) Parenchyma (b) Collenchyma . — 1
(c) Sclerenchyma (d) Tracheid ANy (el
(8)  The internal hydrostatic pressure in plarts is: =N | T (L ERAE0ESS
(a) Osmotic ' o) hout ' I R
(c) Turgor \ = L~ () Smluxe f
9 The inactivg non cond--ctmc ‘\ICD(J 9 ! aHeU \ . ol (GRW 2019)
() primary wesa ™ L \ \ N _5) secondary wood
(c) hearf vicod | AEERY | (d) san wood

(10) The sclérench) /nc calis nJUnd in seed coats and nutshells are called:
- (MTN 2019, LHR 2021)

A Y !.A) F-ibers (b) Sclereides
7 (c) Tracheids (d) Vessels
(11) Bundle caps in sunflower stem are formed by: (GRW 2021)
(a) Parenchyma (b) Sclerencma
(c) Mesenchyme (d) Collenchyma

24



Y}

Chapter—lG Support and Movements

(12)  Which of the following cells lack of secondary walls? (MTN 2021)
(a) Sclerenchyma (b) Collenchyma - \
(c) Mesophyll (d) Vessels - [

(13) Complete immobilization of muscle leads t) muselcveakness.ard >eve*rf
(a) Atrophy \ + (I, Cramg
(c) Tetany ' “(a) Travme -

(14)  The stractuies that lack-seconcary well axe: ' (LHR 2022, MTN 2022)
(a) Fibezs : ~(b) Sclerenchyma
(c) Parencayma, | \ ! ' (d) Collenchyma

(15). -~ Tie 1nenibrane ta=: bounds vacuole is called: (MTN 2017, 2018, SGD 2018, LHR 2022)

\ @ - retpiast (b) Tonoplast

(¢) Chloroplast d) Leucoplast
SIGNIFICANCE OF SECONDARY GROWTH

(16)  Anincrease in plant girth due to the activity of vascular cambium is called:

(a) Development (b) Primary growth
(c) Secondary growth (d) Bothband c
(17)  The soft wood tissue formed over the wound in plants is called:
(a) Gall (b) Tumors
(c) Callus (d) Growth galls
(18)  Secondary growth occurs due to cell division in:
(a) Vascular cambium (b) Cork cambium
(c)Botha &b (d) Some other region
(19) The commercial cork is made from the bark of:
(a) Quercus suber (b) Dalbergia sisoo
(c) Rosa indica (d) Accacia deodara
(20) Chemicals providing resistance against decay and insect attack to the wood of cedar
and conifer:
(a) Resins (b) Gums
¢) Tannins (d) All of the above
(21) Secondary growth leads to an increase in the diameter of the: (DGK 2018)
(a) Stem (b) Root .
(c) Leaf (d) Stem and Root _ /
(22)  Anincrease in the plant girth due to the ac'r'V|ty of Vasm ‘,ar l:lum S Pahﬂd :
—~ ' ‘{JV\IP 2019)
(a) Primary Growth [ ()| Second any Grow; h
(c) Sap Word . (d; L‘lealt\/\'(;uu
(23) Thei |rac Tvelang: nonJ‘Ot tacrlng\ocr IS cu'!vd (SGD 2022)
(a) Sap vord | (b) Heartwood
(c) BothiAlana By (d) None of these

'y MOVEMENTS IN PLANTS
BIAMEES

24) Flowers of tulip close at night due to:
(a) Photonasty (b) Phototactic
(c) Epinasty (d) Thermonasty

(25) The movement of sperms of lower plants towards archegonia is in response to:
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(26) For photonasty the principal stimulus is: h
(a) Heat \ (b) Dark
(c) Photoperiod : ' (d) Dari period
(27)  Closure of venus fly trap hni sttt m| (flinsect isiar gxampie ot
(@) Thigrpotropisr: \ ' ~(hY Hyponasty
(c) Haptonasty (d) Epinasty
(28)  Auxins play a'role in:
(e)Pnotctrepisin (b) Gravitropism
| ) Epinasty (d) All of the above
29) In plant cell turgor pressure is generated:
(a) Cell wall (b) Cell membrane
(c) Mitochondria (d) Vacuole
(30)  The upper surface of leaves in bud condition shows: (SWL 2017)
(a) Photonasty (b) Hyponasty
(c) Haptonasty (d) Epinasty
(31) In plants movement in response to stimulus of touch is called: (LHR 2018)
(a) Phototactic (b) Chemotactic
(c) Nyctinasty (d) Thigmotropism
(32) The movement in response to stimulus of touch i-e climbing vines, is called:
(SGD 2018)
(a) Phototropism (b) Geotropism
(c) Thigmotropism (d) Hydrotropism
(33)  Opening of flower bud follows: (BWP 2018)
(a) Photonasty (b) Epinasty
(c) Hyponasty (d) Haptonasty
(34) Movements shown by sperms of liver —worts, ferns towards archegonia is a:
(BWP 2019)
(a) Chemotactic (b) Phototactic
(c) Chemotrophic (d) Phototrophic _ _ = 1
(35) For photonasty, the principal stimulus is: e (LHRZ2020)
(a) Light ) {b) Darke . O N [ o o=
(c) Photoperiod . (G Dargperiod | | [ ="
(36)  Action of Venus Fly trapl AUN y o " (SGD 2019, 2021)
(@) Nygtyn as 'y VWL {b} Phstonasty
(c) Hapzr as*y | \ ~(d) Thermonasty

“37)  Which of the following animal has hydrostatic skeleton?

(a) Glucose
(¢) Nucleic acid

TR

<D MOVEMENTS IN ANIMALS:
HYDROSTATIC SKELETON

(b) Nectar
(d) Proteins

(RWP 2021)

() Man (b) An insect
(c) Sea anemone (d) Fish
EXOSKELETON
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(38)

(39)

The simplest example of exoskeleton is:

(a) Shell of tortoise
(c) Feathers of birds

The most complex exoskelaton i foand

(a) Arthropods

ici Echingiermates

PAST PAPE L"’{[{I

(40)

(AL

(b) Shell of molluses, | [~

! \d) Scaleui shakes™

(b)' Clio'dates

Ad}, Mehuscs

A hardened ojlter surtare to-avhich mternal muscles can be attached is: (DGK 2017)

(@), Ehdcsketan
{0 cxbekeieton

(b) Hydrostatic skeleton
(d) Axial skeleton

T he process of moulting is controlled by the nervous system and a hormone called:

(a) Aldosteron
(c) Ecdysone

(42)

(43)

(44)

Both bone & cartilage are:
(a) Rigid connective tissues
(c) Have a matrix of protein collagen

(LHR 2017, LHR 2019, LHR 2021)
(b) Androgen

ENDOSKELETONI

(b) Consist of living cells
(d) All of the above

Which of the following is right sequence of cells involved in bone repair?

(a) Osteoblast — osteoclast — osteocyte
(c) Osteoblast — osteocyte — osteoclast

Living cells of cartilage:
(a) Osteocytes

¢) Chondrocytes
PAST PAPERS MCQs

(45)

(46)

(47)

(48)

(49)

(DG

Collagen fibers of bone are hardened by the deposit of:

(a) Calcium phosphate

(c) Sodium carbonate

Bone forming cells are known as:
(a) Osteoblasts

(c) Osteoclasts

Both bones and cartilage consist of living cells embedded |n th_e matn, of B AS A |

known as:

(a) Collagen
(c) Insulin \ _
The bone dissolving cells are rai ed
@ St(—"u"“"m e -
(c) Osteshlast, ' A \
The living celis\otc: mllcﬂe tae called

. _(a, Choridragytas—
. '\c)gstcouytes

Mature bone cells are called:

) Kesatirl o~ VY E
~ (4 Fibringger, o

(b) .Osteoblasts

(b) Osteocyte—osteoblast —osteoclast
(d) Osteoclast — osteoblast — osteocyte

(b) Osteoclasts
(d) Osteoblasts

(LHR 2017)
(b) Sodium phosphate
(d) Calcium carbonate

(FSD 2017)
(b) Osteocytes
(d) Chondroblasts

© (LHR2007

(LYR 2022, MTN 2022)

(b} Gsteoclast
" (d) Osteocytes

(RWP 2022)

(d) Osteoclasts

(BWP 2014, SWL 2015, LHR 2019, LHR 2021, BWP 2022)

(a) Osteocytes

¢) Chondrocytes
ENTRY TEST BASED MCQs|

(b) Osteoclasts
(d) Blastocytes
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(51) What s false about cartilage? (UHS 2022)
(a) There are many blood vessels in cartilage, - \

(b) It is a form of connective tissue _ -
(c) It covers ends of the bone at joints | |
(d) It is much softer than hone

_ &’!F'r’iﬂﬂ"-m

(52) Numbe=ai paireiHones m cranitin-

(a) 2 1R (b) 6
(cy.3 ' (d) 10
(52) | WMiith-9TThe foIIowmg is unpaired facial bone?
' (@) Vomer (b) Zygomatic
(c) Nasal (d) Maxilla
(54) Number of vertebrae found in thoracic region:
@7 (b) 12
(c) 8 (d)5
(55) Find out the odd one:
(a) Tibia (b) Fibula
(c) Patella (d) Ulna
(56) Rib cage is made up of number of ribs:
(a) 12 (b) 9
(c) 24 (d) 33
(57) Pelvic girdle does not contain:
() Hium (b) Coracoid
(c) Ischium (d) Pubis
(58) The structure formed by the fusion of posterior four pelvic vertebrae is:
(a) Axis (b) Atlas
(c) Coccyx (d) Sacrum
(59) Sacrum is formed by the fusion of anterior: (MTN 2017)
(a) Two bones (b) Three bones
(c) Four bones (d) Five bones e
(60)  The number of pelvic vertebrae in vertebral column of man is: —{DGK20&73~\ |
(@5 (b) 7 e 2 '
(©9 ) 12— ¢ SRR NRY Iy g O
(61)  The lower two pairs of ribs,in hu m;ms ars called: REERE " (RWP 2017)
(a) Free ribs 270 () Fik ibs ]
(c) Floating'ribs , VWL Ad) Farrier ribs
(62) The vertabirel Co'iL.mn nf Al an\eq SISt vertebrae: (SWL 2018)
(a) 31 A\RIR \ 4 (b) 32
03] %7 " aurner otcerwcal vertebrae are: (FSD 2016)
WY )T (b) 12
(c) 33 (d) 22

(64)  All of the following bones are associated with coxal bone, except:
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(MTN 2019)
(a) Ilium (b) Ishium =
(c) Pubis (d) Clavicle — | [~ \_
(65) Seven vertebrae which lie i in the rieck reglon sallled (RWE 2016, TN 2019)
(a) Lumber region =y 7 (B Thoracit rcgmn
(c) Pelvic jegion YA |\ _A\d}, Cervical region
(66) All of ke follp NiRg are as. ccmtno veith coxal bone except: (MTN 2019)
(@) Hiurp 4% 04 (b) Ischium
(ciPubis, |\ ' (d) Clavicle

(g7 | “.ine-fusion of four posterior vertebrae in pelvic region form:
} (FSD 2018, 2019, 2021, BWP 2021)

(a) Sacrum (b) Lumbar
(c) Coccyx (d) Chest Cage
(68)  Which one of the following is a facial bone: (LHR 2021)
(a) Frontal (b) Occipital
(c) Vomer (d) Sternum
(69) Which one of the given is paired bone in cranium? (SWL 2021)
(a) Frontal (b) Occipital
(c) Sphenoid (d) Temporal
(70)  To which region of vertebral column, tetra’s pelvic gridle is attached? (SWL 2022)
(a) Lumber region (b) Sacral region
(c) Pelvic region (d) Cervical region
JOINTS

KIPS EXERCISE

(71)  Joint formed between ulna and humerus is:

(a) Hinge joint (b) Ball & socket joint

(c) Pivot joint (d) Some other type of joint
(72) Ligament is:

(a) Slightly elastic

(b) Holds the bones together . > I -
(c) Formed by modification of a part of f|b fols ca A AN N =N .
(d) All of the above \ u \ | ' -

(73)  The jdini that.altows the'n wovcm\ﬁ\ri'ts it twa girections is called: (RWP 2016)
@) Carula'; naus p|’1t< VL (b) Synovial joint
(\) —mgﬂjowms Ve (d) Ball and socket joint

(74) .' "¢ syricvial joint is surrounded by a layer of connective tissue called:

O (LHR 2017, GRW 2018)

(a) Fibrous capsule (b) Hyaline cartilage
(c) Annulus Fibrosus (d) Hematoma

ENTRY BASED MCQ
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(75)  Hinge joint is present between which of the following bones: (UHS 2022)
(2) Humerus and radio-ulna (b) Femur and pectoral gird!le —

(c) Femur and acetabulum d) Humerus and psetoral giitie
WLE"E&EL 11.@“] ' o,
KIPS EXERCISE :

(76)  Which of the following is nct reie ant tc oateoocrusv

(a) ERT | bl Aged women
(c) Masz ot blies ic educed’ | - ~(d) Hypercalcemia
(77)  Which bf the fellowiny is et a disorder of bone?
(@, Cliscslip ' (b) Spondylosis
. i) :3_:i=1:iea ' (d) Rickets
{T€) €hronic arthritis includes:
(a) Osteoarthritis (b) Rheumatoid arthritis
(c) Gouty arthritis (d) All of the above
(79) Osteoporosis is caused by the decrease of the level of:
(a) Testosterone (b) Thyroxin hormone
(c) Estrogen (d) Progesterone
(80)  The ring of annulus fibrosus is made up of:
(a) Hyaline cartilage (b) Fibro cartilage

c) Bothaand b (d) Not made up of cartilage
PAST PAPERS MCQs

(81) The inflammatory or degenerative disease that damages joints is called: (RWP 2017)

(a) Arthritis (b) Osteoporosis
(c) Meningitis (d) Spondylosis
(82) Rickets is a disease in children with bowed legs and deformed: (MTN 2018)
(a) Head (b) Pelvis
(c) Chest (d) Arms
(83) Rickets is caused by deficiency of: (BWP 2018)
(a) Vitamin A (b) Vitamin B
(c) Vitamin C (d) Vitamin D
(84) A condition in which palatine processes of maxilla and palatine fail to fuse is called:
(a) Cleft palate (b) Microcephaly
(c) Cretinism (d) Myxedema
(85) The disease which causes immobility and fusion of vertebral jomts is called: =1
. 5 (LHE % 4 19)'
(a) Arthritis —{b) Rickets— " ) | - aer
(c) Spondylosis - L (ASeigtice, | o A
(86)  The sclerenchyma cells fo! Jrld in sazd roat” and rutstiellsare & alfec (LHR 2019)
(a) Fibers — S ) sciereides
(c) Trdchiids, — —~ |~ | | g} vessels
(87) The stolotng Lan in ‘e(] |~ || T (LHR 2019)
(a) Arthritish 0 L (b) Herniation
M@ stiatica (d) Spondylosis
s 4698 | “The-most common chronic arthritis which is a degenerative joint disease, also caused
7 by: (MTN 2019, RWP 2021)
(a2) Hormonal defects (b) Genetic defects
(c) Nutritional defects (d) Neural defects
(89) Osteomalacia includes a number of disorders in which bones receive inadequate:
(RWP 2019)
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(90)

(92)

PAS
(92)

(93)

(94)

(a) Water (b) Oxygen
(c) Blood (d) Minerals
A group of diseases in which bone resorptlon out paces depm H |r Kﬁ“«vn as: ||

) \ <) (FE5-2021)
(a) Osteoarthritis _ L (wio »t(-.Dp'J"O“ is| g
(c) Osteomalacia aYi (o) Axtr |t s\

Ricketa s a diseasa Irj vhildrep \}vif.n__' :
(a) Soft bcres: | WL (b) Herniation

(:\ Bhwed !egs enc, deformed pelvis d) Arthritis
{4 - REPAIR OF BROKEN BONES

A mass of clotted blood that forms at the fracture site is called: (DGK 2017)
(a) Haemahuma (b) Callus

(c) Haemoglobin (d) Haematoma

The beginning of bone formation, starts after injury: (GRW 2021)
(a) 3-4 weeks (b) 2-3 weeks

(c) 8 weeks (d) 8-12 weeks

Which of the following cells are involved in soft callus formations during repair of
bones? (FSD 2022)
(a) Osteocytes (b) Chondrocytes

(c) Osteoblast EdE Osteoclast

ENTERY TEST MCQs

(95) Which of the following is not a consequence of anaerobic respiration in human
muscles cells? (UHS 2022)
(a) Cramps (b) High consumption of energy
(c) Pain (d) Tiredness

(96)  Which of the following is a muscle component that acts as store for energy?

(UHS 2022)

(@) ATP (b) Creatine-PO4
(c) Myoglobin (d) Creatinine-POg4

(97)  Which of the following is not found in skeletal muscle fibers in human? (UHS 20223 -

(98)

(99)

pra

(101)

(a) Multiple nuclei (b) Multiple mitochondria .~

ic% Large amount of myoglobin (d) Large amn'-n of, her}wp!dbm :. o

Muscles regarded as visceial, noa- ff«tl’l,aed ar' d \nyoRNntary:

(a) Cardiac . RYFAR! (b\ Sketetal
(c) Smoor | — ¥~ L \ |\ rd) AT of the above
Tendor it horz, T 40 1Y |
(a) Mad? up ot LO|Ja\JP'I (b) Attaches bone and muscles
@, Elastic - (d) Bends the joint by muscle contraction
*2/hich of the following can polarize visible light?
(a) A-band (b) 1-band
(c) Z-line (d) M-line
Each muscle fiber is enclosed in a membrane called:
(a) Axolemma (b) Sarcolemma
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(c) Synovial membrane

(d) Tonoplast

(102) The smallest contractile unit of muscle fibre is:

(a) Actin
(c) Z-line

PAST PAPERS MCQs

(103) Skeletal muscles are called stria: ed \s ri opncn b&VdUS'-’ ot preser cz of:
‘(hY Wwitite and yellow band
~(d) Red and black band

(a) Regiand yellows-band

(c) Alterrgting dark ard lighy waric -
(104) Skeletaj nitscle, fibies hava'diameter:

(@, 1)0-20D urn
023208 mm

{105) ‘The earliest form of muscles to evolve is:

(a) Cardiac muscles
(c) Skeletal muscles

(106) Proteins that bind to calcium in muscle contraction:

(a) Actin
(c) Tropomyosin

(107) Long tubular structures join end to end:

(a) Fibers
(c) Sclerids
(108) Unstriped molecules are:
(a) Smooth muscles
(c) Skeletal muscles

(109) Thin filament in composed chiefly of:

(a) Tropomyosin
(c) Actin

(110) Myoglobin occurs in:
(a) Spleen

¢) Blood
ENTRY TEST BASED MCQs|

(111) Over lapping of thick filament occurs in:

(a) A-Band
(c) I-Band
(112) Thin filaments of muscles contain

(a) Four

(c) One
(113) The thick filaments in a F"]yOfIbn of musclesiare magce of |

(a) Haemoglobin
(c) Mbilnbm )

(114) Which=st the hllxm;lr*g s m':r"aé\.

— (@ B[TP!
| M4 A yngtsnin

(a) Multiple nuclei

(b) Myosin | I

| (d\ Qa[‘u(j mé'r::

(RWP 2017)

(GRW 2017, GRW 2018)
(b) 10-100 pm
(d) 100-1000 um
(DGK 2018)
(b) Smooth muscles
(d) Involuntary muscles
(SGD 2019, 21)
(b) Myosin
(d) Troponin
(FSD 2021)
(b) Vessels
(d) Trachea
(DGK 2022)
(b) Cardiac muscles
(d) Brachialis
(DGK 2022)
(b) Troponin
(d) All of these
(FSD 2022)
(b) Muscles
(d) Liver

(UHS 2017-Retake)
(b) M-line
(d) Z-line
chains of actin molecules.

1%,

(b) Three

i (d)TV\,U Y I I:.-' o . '

. | T '(UHS 2019)
\(b) Actin
—{d Nyasin

a0 ‘npunent that acts as store for energy?

(UHS 2022)
(b) Creatine-POg4
(d) Creatinine-PO4

"-."\.".j.:a) svhich of the following is not found in skeletal muscle fibers in human? (UHS 2022)

(b) Multiple mitochondria

(c) Large amount of myoglobin d) Large amount of hemoglobin
SLIDING FILAMENT MODEL
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KIPS MCOs

(116) Insliding filament model:
(@) Actin and myosin are shortened e
(b) Only actin is shortened - v | |
(c) Both actin and myosin are nci shorteried ||

d) Only myosin is shorteried ' ]
PAST PAPERS MEQs . f

(117) Each #-kandhas2 ligiier s.'.ri.p? ifs its _f 1id-szction called: (RWP 2019)
(@) A-Zpnzi 0 (b) H-Zone
(2) V-Line | \ (d) Z-Line

e (AL EHC = D A deey

ENMRN FCHSH BASED MCOs

1218) “W.O.F changes occurs when skeletal muscles contract? (UHS 2017)

(a) I-band shortens only

(c) A-band shortens and Z-lines move apart

(b) I-band shortens and Z-lines come close to each other
d) Actin filament contracts

CONTROLLING THE ACTIN-MYOSIN INTERACTION BY Ca++ IONS

KIPS MCQs|

(119) Sarcoplasmic reticulum are like:
(a) RER (b) SER
(c) Golgi bodies (d) None of these

(120) The ions combining with troponin molecule to expose binding site:
(a) Sodium (b) Potassium

¢) Calcium (d) Zinc
PAST PAPERS MCQs

(121) Sarcoplasmic reticulum surround each:

(a) Myofilament (b) Myofibril
) Sarcomere (d) Both Aand B
(122) The function of calcium ions in muscle contraction is to: (UHS 2019)

(a) Bind to troponin molecule and cause them to move

(c) Aid in the transmission of nerve impulse

(b) Polarize visible light

(d) Bind to tropomyosin molecule and cause them to form cross bridaes~_ ™,

N |

KIPS MCQs :
(123) The pH of a fatigued mugcl? is: _ = . Ly
[/ (b} Basie-

(a) Neutra!— , Y, |
(c) Acidic| | Ty L | () Variable
PAST PAPERS MR
(124) .. Muscle fatigueliy coused by: (SGD 2017, RWP 2021)
[y MG ' (b) Fumaric acid
S L) Ethyl alcohol (d) Lactic acid
\125) Tetanus is caused by: (GRW 2017)
(a) Bacteria (b) Virus
(c) Fungi (d) Protists
(126) A disease caused by low level of calcium in the blood is called: (MTN 2017)
(a) Cramp (b) Paralysis
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(c) Tetany
(127) Tetany is a disease caused by:
(a) Low calcium in blood

¢) Low sugar in blood
ARRANGEMENT OF SKELF il"

F-d
KIPS MCOSJi

(d) Tetanus

(GRW 2022, BWP-20z2]

(b) Low vit. D in blepd/ [~
d Hiok-caicim jrbigod:

@mimmm

(128) Startingirpn: imimovaklelCorie ke is rlght sequence of parts of muscles:

(a) Grigin,\insertion, bell
(c\urlnm mi2vable bone, insertion

(b) Origin, belly, insertion
(d) Belly, origin, insertion

MOVEMENT OF BONES

(129) What is the number of muscles in human body?

(a) 650 pairs

¢) 210 pairs
PAST PAPERS MCQs

(130) The muscles which work against each other by contractility are:

(a) Agonistic muscles
(c) Antagonistic

(b) 650
(d) 210

(b) Antiparallel muscles
d) Both Aand C

LOCOMOTION IN PROCTOCTISTA AND INVERTEBRATES

KIPS MCQs

(131) Myonemes are special proteins present in:

(a) Muscles
(c) Euglena

(132) When cilium bends or shortens it is called:

(a) Effective stroke
(c) Moving stroke

(b) Amoeba
(d) Earth worm

(b) Recovery stroke
(d) Stop codon

(133) Jelly fish has an umbrella like body called:

(a) Bell (b) Gel
c) Bubble (d) Wheel

(134)  Jelly-fish has an umbrella-like body called: (SGD 2017)
(a) Bell (b) Jug —
(c) Vase (d) Shoe-flower _ -

(135) Euglena is able to change its dlrectlon by-the active, cortraction (')f ’ (D(“' )"16)

(a) Undulating membrane

() Mydnmnes |

(c) Flagella ' ~ ()
ﬁmmajmwg b £

(136) Which bfthe fellgwiny are urpaired fins?
(@) Pelvic firs | -

_ G venirai fins

\ J | “.22) WVhich group shows swimming on Land?

A (a) Reptiles

(c) Mammals

(b) Pectoral fins
(d) None of these

(b) Fish
(d) Amphibians

(138) In birds, for flight number of bones in limbs are:

() Reduced

(b) Increased

(SGD 2022)
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(c) Not changed (d) In one part reduced and in other mcreased

(139) Which of the following is the most-swift type of locomotion? -
(a) Plantigrade (b) Unguligrade .—
(c) Digitigrade ) i {d) Noncgi tnese | |

(140) Bipedals are included in: FPaRitu R !
(a) Plantigrade ' “\(B) Daitigrede
(c) Ungaligrede \ 0L qd) Algtthe above

(141) Power &=y upvirarastioke cf1 mhL Is.rrovided by:
(a) Pelvic musties, . (b) Pectoral muscles
((,,* v uscley bf becl; (d) Bothband c

R Sl H RS ERE T COS
J | “{}42) WwVhich one of the following is a plantigrade? (SWL 2017)
' (a) Rabbit (b) Monkey

(c) Goat (d) Deer

(143) is unguligrade. (MTN 2017)
(a) Monkey (b) Apes
(c) Rabbit (d) Goat

(144) The plantigrade animals used to walk on their: (LHR 2018)
(a) Digits (b) Tips of toes
(c) Soles (d) Belly

(145) In birds, the sternum is modified to form:- (MTN 2018)
(a) Keel (b) Neck
(c) Rib (d) Clavicle

(146) Digitigrade mammals tend to walk on their: (DGK 2018)
(a) Soles (b) Digits
(c) Tips of the toes (d) Tips of the fingers

(2147) Which animal shows digitigrade mode of locomotion? (DGK 2018)
(a) Bear (b) Dear
(c) Rabbit (d) Horse
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Chapter—16

Support and Movements

SUPPORT IN PLANTS

KIPS SHORT QUESTIONS

Ill‘ll'ﬁ'mﬁmm

Lorig-aridcylindrical, may exist
in anidles.
| Found in xylem or in bundle cap

Q:1 Differentiate between vessels and trachelds
Ans.
Vesselg r
Long, tubular structures, fonea 2adt) €nc
to forym{ang water-condcting pipes. |\
Found=a ylem ¢y L L L
Q:2  Narrate nigin fzajute pi.ce I.cnchyma tissue.

Ans: ,
- [ They nave protoplasts

e They are living cells

e They lack secondary walls

e They have angular thickening in primary walls

This tissue provides support to young herbaceous parts of plant
PAST PAPER SHORT QUESTIONS

Q:3 What is vascular cambium? Give its function. Which tissues arise from vascular
cambium? (2018 SWL 2017 FSD 2022)
Q:4  How callus is formed? (LHR 2019, GRW2021)

Q:5 Differentiate between fibers and sclereides.
(MTN 2016, 2018 DGK 2022)

Q:6  Compare sapwood and heartwood.

(DGK 2017, MTN 2018, FSD 2019, RWP 2021, LHR2022, SGD 2022)
Q:7 Differentiate between vascular and cork cambium. (DGK 2019)
Q:8 What are characteristics and functions of sclerenchyma cells? (SGD 2017, SWL 2021)
Q:9 Define nastic movements. Give its types. (RWP 2017)
Q:10 Discuss the structure and function of collenchyma cells in plants. (SWL 2019)
Q:11 Write two characteristics of collenchyma tissue. (LHR2019)

Q:12 Define collenchyma cells. (SGD 2022)
SIGNIFICANCE OF SECONDARY GROWTH
KIPS SHORT QUESTIONS

Q:13 Differentiate between Heartwood and Sapwood.

Ans.
Heartwood

Inactive, non-conducting wood is termed as
heartwood.

Located on inner side (centre) of thh stem?

N (. W T SN S W

Store resm\. y, c)ll., aums; crd ta
Resistance to Hecay ard insect attack.!

cvng Woos g nowe -
sapwvsod. \ A

Active and corau
l')—COl'-‘_d_O”l_OJttr sMe (yaunger portion of
NGO, FXYlEm

Trdisport Water and salts.

Q:14_ Whdl is\a secCridary-growth?
Ang

_ w\ndineiease fin plant girth due to activity of vascular cambium and cork cambium is
s | 'sdalled secondary growth. It causes increase in stem thickness.

IPAST PAPER SHORT QUESTIONS

Q:15 Define secondary growth and give its significance.

(GRW2019, MTN 2019, DGK 2018, 22)
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TYPES OF MOVEMENTS IN PLANTS
KIPS SHORT QUESTIONS

Q:16 What is pulvinus? Give its function. - ™

Ans. Pulvinus: It is swollen portion of the pefio’e compaeea of parer; hyr aicys, selis-with
relatively large intercellular-spaces ard central {tra nd ofvascilar tissue.
Function: By changes in tirdorsudsSsarg, it vreates tuirga: ntovernents.

Q:17 How de-sigep movemeiits in planty take pl,tce’>

Ans:  The slé2s movenieats ir pial itsrtake. plane-due to daily change in the turgor pressure in the
pulvinui. 'Mhéri turgor|presstir ofi the lower side of pulvinus decreases, the leaves lower
end[go to “Siceping’ gosition.

116 Ditierendaie dDetween phototactic movements and phototropism.

NS ]

Phototactic Movement | Phototropism

It is the movement in response to | The tropic movement of the part of plant

stimulus of light. in response to stimulus of light is called
phototropism.

Example: Example:

Positive movement of chloroplast due to | Differential growth of part of plant like

cyclosis root and stem.

Q:19 Differentiate between epinasty and hyponasty.

Ans:

Epinasty Hyponasty

In this case the upper surface shows | In this case lower surface of leaf shows

more growth as compared to lower | more growth as compared to upper

surface of the leaf in the bud | surface of the leaf in bud condition.

condition.

This leads to oienini of bud
PAST PAPER SHORT QUESTIONS
Q:20 Explain the terms epinasty and hyponasty.

(RWP 2014, DGK 2015, BWP 2017, LHR 2017, SWL 2017)

This leads to closing of bud

Q:21 What is pulvinus? (DGK 2017)
Q:22 Compare photonasty with thermonasty. (SWL 2017)
Q:23 What are paratonic movements? Name its types. (MTN 2017)
Q:24 Define tropic movements. Write the names of its types. (SGD 2017 .
Q:25 Compare phototropism and geotropism. S HLHR29170
Q:26 Define nastic movement. What is Thermonasty? T (RWP2018Y
Q:27 Define turgor pressure. Give its twofuncticng, . | " Y [ L S (RNPZ019)
Q:28 Name the types of turgor msvemeits: VU sy T (GRW2019)
Q:29 What is sleep movement? /Ao wvrite ¢r el np g X / (LHR2019)
Q:30 What ispliototactic movement? Give exan.F.Ps — (LHR2019 FSD 2022)

Q:31 What is: ‘*he re I of vadudle in ce*\\f\a 4inj taigor pressure in plant cells? (MTN 2021)
Q'32 Differertidts ba; Wr>e’1 ki pindstyand nyctinasty. DGK 2022)
.!o -‘ETMT b GROWTH SUBSTANCES IN PLANT MOVEMENT
Wﬂ. m REMIESTIONS
w82  wVhat is the role of Auxins in plant movements?
Ans.  Some of their important roles are given below:
e They play major role in phototropism.
e They are responsible for positive gravitropism of roots and negative gravitropism of stems.
e They cause epinasty.
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PAST PAPER SHORT QUESTIONS

Q:34 Give the name of hormones which are involved in epinasty and h

ponastyt— (LHR20i2)

KIPS SHORT QUESTIONS -
Q:35 Give the composmon of epiculicie a.ui prof‘ut C|L

Ans. Epicutitie; \Waxy-fipoorotein.

Procuti: e Chitiry, Do'lgatcha ide,"Sieverdi kinds of proteins.

HDRY OUEST1IDNS

Q:36-, [Defir e the mechar.sritof hydrostatic skeleton. (FSD 2017)
(@27 % Wial iz iyarostatic Skeleton, give example? (SGD 2019, MTN 2021)
' Exoskeleton

KIPS SHORT QUESTIONS

Q:38 Explain the role of exoskeleton in arthropods.
Ans: The role of exoskeleton in the arthropods is given as;
e The invagination of exoskeleton forms firm ridges and bars for attachment of muscle.
e |t forms the joints.
e The skeleton has sensory receptor called sensilla. The sensilla form the bristles and
lenses.
e It helps in exchange of gases.
e It protects from drying.
e It is thin, soft, and flexible at joints to move easily.

Q:39 What are disadvantages of exosoleleton? (MTN 2018, RWP 2021)
Q:40 Why does moulting take place in arthropods? (GRW 2017, DGK 2019)
Q:41 What is an exoskeleton? Name its two layers. (DGK 2018)

Q:42 Define ecdysis or moulting, give its two stages.

(FSD 2018, SGD 2018, FSD 2019, FSD 2021LHR 2021, 2022, WP 2022)
Q:43 Give two modifications in the exoskeleton of arthropods. (LHR2021)
SOME MAJOR FUNCTIONS OF SKELETAL SYSTEM
KIPS SHORT QUESTIONS
Q:44 Enlist functions of endoskeleton.

1. Support and movement
2. Minerals homeostasis
3. Blood cells production — [ T |
4, Protection o AT N [
PAST PAPER SHORT QUESTIQNSEEES i ' "
Q:45 Give role of skeleton in mineral hamenstasis and b1oud MII pmﬂucﬂow (RWP 2014)
Q:46 Write fqur i) '—leI‘ funcf'"“s nfiskeietal systerm, | .~
AN ;\T (LEi R4021 SWL 2021, GRW2021, SGD 2022)

1=3NE

Qudi M LL_n= aiving tlssue Give two valid reasons.

VAR es, bone is a living rigid type of connective tissue.

Living features:
e It contains living cells i.e. osteoblast, osteocyte and osteoclast.
e It cangrow in size and can be regenerated during healing of broken bone.
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Q:48 Distinguish between bone and cartilage.
Ans.

ISR (P

HA0E

It is rigid form of connective | It iszomparatively Seft 1nimof conrectiyve tissue.
tissue. o L AWV N
Its living cells are osteocytg___ I_*s_gri_‘eils arg thondrocyte)
| Blood-veisels pepetraicinthem J[,Iou4 'vesels-do not penetrate.

Q:49 List the=mair, pariz of ¢xiay aml ammau,ular skeleton.
Ans. Axial Skeieton.
@Skl ' (ii) Vertebral column
iy RibCage (iv) Sternum
Appendicular Skeleton:
(i) Pectoral girdle (i1) Pelvic girdle

iii) Forelimb iv) Hindlimb

Q:50 Compare exoskeleton with endoskeleton. (MTN 2014)
Q:51 Differentiate between hyaline and fibro cartilage.

(DGK 2017)
Q:52 Describe main types of cartilage. (RWP 2017, RWP 2017, SWL 2021)
Q:53 Which kinds of cells are responsible for bone formation? Write their function.

(GRW 2017)
Q:54 Differentiate the compact bone and spongy bone. Give only two differences.

(MTN 2017, LHR 2018)

Q:55 Differentiate between hyaline and elastic cartilage. (DGK 2018)
Q:56 Define Bone. Write the names of cells associated with the bone. (MTN 2019)
Q:57 Differentiate between hyaline cartilage and elastic cartilage. (FSD 2021)
Q:58 Differentiate between bone and cartilage. (LHR2021)
AXIAL SKELETON

PAST PAPER SHORT QUESTIONS

Q:59 Name components of human axial skeleton. (SGD 2014)
Q:60 Name the bones of pectoral and pelvic girdle. (SWL 2019)
Q:61 Name unpaired bones of cranium and face. (LHR 2016, LHR2022)
Q:62 What are floating ribs? (DGK 2015)
Q:63 Name two paired facial bones. . (FSD20475,} |
Q:64 How many ribs do not attach with the sternum? - | r’FS';'zCZJ_).
Q:65 Write names of paired and unpaired bones si'cranium., " ' (I\‘lT $2522)

END _E'Ti‘!. oy

PAST PAPER SHORT QUEST{O - |
Q:66 Name diffzignt bones.st-hind !'m') AR R ' (BWP 2017)

Q:67 What ia_differenice hetwren axizl §k@e_fm ard 'abpendicular skeleton? (GRW 2017)
Q:68 Define dppt ncu uhar skOIthar ) ' (MTN 2017)
JOINTS

RS R

299 SVhat is synovial joint?

Ans Synovial Joint: These joints contain a cavity filled with fluid and are adapted to reduce
friction between the moving joints. The joint is surrounded by a layer of connective tissue
called ‘fibrous capsule’ and their inner layer ‘the synovial membrane’.

Example: Elbow joint
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PAST PAPER SHORT QUESTIONS

Q:70
Q:71
Q:72
Q:73
Q:74
Q:75
Q:76
Q:77

(g€

b
YR

What are joints? Explain various types of joints. (LHR-20L71
Compare Fibrous joints with synovial Jomts _ T (DGKK 201Q‘
What is “ball and socket joint™? \DL K 2027, R\vF-2018)
What is a synovial joint? Give its typss. . | (EGD 2819' DGK 2019)
Define hinge joints. Give example | - : - | (DGK 2019)
Define inintand give rave'orithe basisofstructlire - (SWL 2015)
What are’cart! Iiglmu< Joirte? (MTN 2021)

Differenti tﬁ ngﬁ oints ficm Baii and Socket Joints by giving examples.

(MTN 2021, LHR2022)
(3iv= the &teuctural composmon of synovial joint.
Cifterentiate between cartilaginous joints and synovial joints. (GRW2022, RWP 2022)

J:80 What are fibrous joint? Where are they found in the human body? (DGK 2022)
DEFORMITIES OF SKELETON
KIPS SHORT QUESTIONS

Q:81
Ans.

Differentiate between nucleus pulposus and annulus fibrosus.

Nucleus Pulposus Annulus Fibrosus

It is an inner semi liquid fluid [ It is an outer ring of fibrocartilage of

present in each intervertebral disc. intervertebral disc.
It  provides elasticity and | It is responsible to hold together successive
compressibility to the disc. vertebrae.

Q:82 What is osteoporosis? How is it treated?

Ans. Osteoporosis: It is a group of diseases in which bone resorption out paces bone deposit.
Treatment: Estrogen replacement therapy (ERT) offers the best protection against
osteoporotic bone fracture.

Q:83 What is herniation of disc?

Ans: The displacement of inter vertebral disc due to rupturing of annulus fibrosus followed by
protrusion of the spongy nucleus pulposus is called herniation of disc or disc slip.

Q:84 What is sciatica and its causes?

Ans: It is characterized by a stabbing pain. This pain radiate over the course of sciatic nerve.
The sciatic nerve supplies the thigh muscle.

Causes

Imiroier admlnlstratloE)‘:pan njnctlon in ' tne but10c< L\ -

Sciatica is caused due to injury of prOX|maI sciatic nerve. ThIS |n|ury is Vaarec, dw o
e Herniated disc AR i

N |

PAST PAPER SHORT QUEST{O

Q:85

Q:86
Q:87
e

V1DE9
Q:90

Q:91
Q:92
Q:93
Q:94

What is r!rm ts? Give.its-casks. )
(’:Fé\’\/ U4 BV «P\SQ 5 LH 4015 RWP 2016, MTN 2018, SWL 2018)

What is|mizany ky Hise Slio7 | (MTN 2017)
Wha is sciaric an_i ite-causes? (DGK 2019)
\Whial isstioiporosis? Write its treatment. (MTN 2021, LHR2022)
Clifierentiate between Microcephaly and Osteoarthritis. (MTN2017)
How genetic deformities of skeleton occur in humans? (RWP 2017, MTN 2022)
What is arthritis? What is the cause of osteoarthritis? (DGK 2018, LHR2022)
What is herniation of disc? (MTN 2019, LHR2021)
What is Osteomalacia and cleft palate? (FSD 2021)
What is spondylosis? (SWL 2022)
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REPAIR OF BROKEN BONES
KIPS SHORT QUESTIONS

Q:95 Describe the types of reduction in the treatment of bone fracttre. |

Ans: A fracture is treated by reduction followed Ly realigirient: Reduction|is“the Fixation of
fractured bones in normal sasition.
It is of two tvpes:
(1) Closeil reductisis (2).Open reduction.
In closea redugtion, tore erids are n&axed back to normal position by physician’s hand.
In onen'reductinn tioried-aiecoaxed by surgery.

Q: GG What is Hernacina formation?

Arisl s rhe-dlood vessels in the bone or its surrounding areas are torn when a bone breaks. It

causes hemorrhage. As result, a hematoma is formed at fracture site. Hematoma is mass

N it

of clotted blood.
PAST PAPER SHORT QUESTIONS
Q:97 What is hematoma formation?
Q:98 Define remodeling.

(BWP 2014, LHR 2016, GRW2021)
(RWP 2018)

Q:99 What are the characteristics of smooth muscles?

KIPS SHORT QUESTIONS

Ans:

The characteristic of smooth muscle is given as;

e They are non — striated muscles and visceral.

e They are long and spindle shape
e Each cell contains a single nucleus.

e They are involuntar
PAST PAPER SHORT QUESTIONS

Q:100 Write few lines about cardiac muscles.

(FSD 2017)

Q:101 Define smooth mussels. SGD 2018: RWP 2022, GRW2022)
SKELETAL MUSCLE FIBER
KIPS SHORT QUESTIONS

Q:102 Differentiate sarcomeres and sarcolemma.

successive Z-lines.

The region of a myofibril between two | Outer embrane of muscle fibre cell _

It is the smallest contractile unit of muscle
fibre.

Responsible to fermitT -tupules-ar, T system; -

-

Q:103 Differentiate between A-tarid and I-E;aind fouad in.nysiibrils (Skeletal muscle)

This is light band.

i (15, 'grisdirepic iie” it can polarize visible

It is isotropic or non-polarizing giving
stripped appearance to cell.

Both thick and thin filaments present while in
H-Zone only thick ones.

Only thin filaments are present

H-Zone is divided by a darker midline called
M —Line

I band have midline called Z-line.
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PAST PAPER SHORT QUESTIONS

Q:104 Describe the structure of a skeletal muscle fiber. (GRW.-201.7)
SLIDING FILAMENT MODEL : '

KIPS SHORT QUESTIONS

Q:105 Who proposed sliding filerient madel fei-muscles Coniraction?

Ans: H. Huxley and (a) F. Huxl¢y anatihziricol! eague.: suggested a fiypothesis in 1954 to
explain-all events insiuscle ccntiaction, this s ¢aiicd “Sliding filament model” of muscle
contracsan

PAST PAPERISHORT O S TLONS

Jf"‘ What is figi mortis? (MTN 2018)

1‘ 1074 Wia! {2'stiging filament model? DGK 2018)

CONTROL OF MUSCLE MOVEMENT BY CALCIUM IONS

KIPS SHORT QUESTIONS

Q:108 What is the role of Ca*™ ions in controlling cross bridges of a muscle?

Ans:  When a muscle is at rest, tropomyosin covers the sites on actin chain where heads of
myosin have to attach. As muscles have to contract, Ca*™* ions bind with troponin
molecule causing displacement of tropomyosin, exposing binding site for myosin head to
get attached to actin, and contraction occurs.

Q:109 What are T-tubule and triads?

Ans. T-tubule: It is an invagination of sarcolemma at Z-line or Al junction.

Triad: The T-tubule along with its adjacent terminals of sarcoplasmic reticulum form
triad.

Q:110 Differentiate between sarcoplasmic reticulum and endoplasmic reticulum.

Ans:

Sarcoplasmic Reticulum (S.R) Endoplasmic reticulum (E.R)
A continuous system of sarco-tubules | A system of tubules extending throughout the
extending throughout the sarcoplasm around | cytoplasm of a general cell.
each myofibril.

Smooth, devoid of ribosomes. These tubules may hold ribosomes.
PAST PAPER SHORT QUESTIONS
Q:111 Define all or none response. MTN 2018, DGK 2022, SWL 2022)
KIPS SHORT QUESTIONS —_ . VL

Q:112 What happens to accumulated lactic acid at rest?

Ans: Lactic acid accumulates in muscles, duririg ‘anagrcir; | respiraticn.” At reot 1/0” oT that
lactic acid is aerobically 'irGken &t the resulting r,ne roy! is, used) t¢ convert remaining
4/5" lactic acid into glucose. | /"

Q:113 Write eﬁﬂ*tt of EXer cise O musﬂ\

Ans.
e fheyin Credge in hize or strength and become more efficient and fatigue resistant.

s o Cagiltanies surroundlng the muscle fibers, as well as mitochondria within them

W increase in number and fiber synthesize more myoglobin.

PAST PAPER SHORT QUESTIONS

Q:114 What are sources of energy for muscle contraction? (LHR 2014)
Q:115 How exercise effect the muscle? (FSD 2017, MTN 2019)
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MUSCLE DISORDER

Q:116 How is muscle fatigue caused?
Ans. Muscle fatigue is caused by:

e Relative deficit of ATR:

e Accumulation of lactic'ac'd;

e loricijimbalance,
PAST PAPERESHORT U HST IONB
Q:117 What is'the: difference heeaeen tetanus and muscle tetany? (LHR2018)
Q: 1573 How muccle fatigue is produced? (BWP, 2017, SWL 2018, MTN 2019)
(3:219-Wfias 1s'cramp? Give its causes.

(BWP 2018: FSD 2018: FSD 2019: GRW2019: SWL 2019)
Q:120 Differentiate between troponin and tropomyosin. LHR?2021)
ARRANGEMENT OF SKELETAL MUSCLES FOR MOVEMENT OF

KIPS SHORT QUESTIONS

Q:121 Define antagonistic relation between muscles. Give example.

Ans. Antagonistic Relation: Such a relation in which muscles work against each other i.e.
when one muscle group contracts then other relaxes is called antagonistic relation.
Example: The best example is the movement of elbow joint by biceps and triceps. The
biceps bends the arm at elbow joint and triceps straightens it.

Q:122 What is origin and insertion of muscles?

Ans. Origin: It is the end of muscle which remains fixed when muscles contract.

Insertion: It is the end of muscle that moves the bone.

Q:123 Differentiate between Ligament and Tendon.

Ans:
Ligament Tendon
Ligaments provides connection between | Tendon provides the connection
bone to bone between muscles to bone.
It is slightly elastic It is non — elastic
PAST PAPER SHORT QUESTIONS
Q:124 Define antagonistic movement of muscles. (LHR2018)

Q:125 How does tendon differ from ligament? BN
(MTN 2018, LHR 2017, 2018, BWP 2018+ |/I'r N 201 , RWIF 2001y
Q:126 What are flexors? Give their examples Ty N (I;_b < 2017)
Q:127 What is ligament? \ ; TRERIERRE ~ (FSD 2021)
Q:128 Distinguish between origiri ard .n‘ertn | i inuseles ! X ' GRW2021)
#MD INVERTEBRATES

Q:129 leferentldre L)etwenn elfeetuve stroke and recovery stroke.
Ang:

Cilia bend downward powerfully | Cilia move upward or straighten to regain
to push paramecium forward. its normal shape.
5 out of 9 double fibrils bend or | 4 out of 9 double fibrils contract and cilia
shorten. become straight.
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Chapter—lG Support and Movements

PAST PAPER SHORT QUESTIONS

Q:130 Differentiate between effective and recovery stroke. (DGK 2015, LHR-ZuU1§, LHER RTS8
Q:131 What is jet propulsion? Give one example. _ (GRVIF2026, L F1201.3)
Q:132 How locomotion takes place in jelly fish? | N (CRWZU18)
Q:133 Elaborate locomotion in star-fish. (GRW2018)

LOCOMOTION w'fa-n\mm

RIELS
Q:134 How di=3 snake friove?
Ans.  Snakes nave ICst the'r Fmbs Lcuondarlly The ribs of snakes have muscular connections to
lavge| belty stals thavaid in locomotion.
Q158 Il tiskeictal adaptations made by birds for effective flight.
Ans:  Flight adaptations in birds are:
Enlargement of pectoral girdle
Development of sternum to form massive keel for the attachment of flight muscle.
Reduction in number of bones.
Fusion of bones for increasing strength.
e  Formation of foramen triosseum which provide efficient lifting action to supra coracoid muscle.
Q:136 Differentiate between passive and active flight.

Ans:
Passive Flight Active Flight |
Birds glide through the air. | Birds fly due to flapping of wings.
Long, narrow wings Short broad wings
Example: Gulls and other | Example: Garden birds
sea birds
Q:137 Give different types of locomotion in mammals.
Ans:

Plantigrade:

In this locomotion, the mammals walk on their soles with palm, wrist and digits all
resting more or less on the ground.

Example:

Monkeys, Apes, Man and bear

Digitigrade:

Some mammals tend to walk on their digits only. In this case, first digit usually reduced
or completely lost.

Example: — ]
Rodents, Rabbits. -\ R N N
Unguligrade: 1 A
The mammals walk on the tlps of fr_*w miocified linto 100.. A -
Example: -

Deer and goar - ; \,, \ S oA
Q:138 How dlgl |1rude 7I|‘Ffers fm“n Hisgdiigarde?
Ans:

R \Biditigrade

Unguligrade

their digits only. In this case first | modified into hoofs.
digit usually reduced or completely

lost.
Example: Example:
Rodents and Rabbits. Deer and goat.
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PAST PAPER SHORT QUESTIONS

Q:139 Differentiate between active and passive flight. (DGK 2017, SGD 2217, DGK.-2019)

Q:140 What is active flight? T (BWIF 201Q\
Q:141 Write two adaptations in birds that help thenTcy flight. ' (£G2-2019)
Q:142 How does shape of wing affect the tybe of tfight in Lircs? (MTN 2021)
Q:143 Differentiate between plansigrade-idiungangrade m. 1mma| | (GRW 2018)
Q:144 What is»lg nvgrade’> Alsc-qiye'examples. / (LHR 2017)
Q:145 leferenha e Hetwesn diantigrade and digitigrade mammals. (GRW2018)
Q:146 How dces\cigdtigrads differ, from tnguligrade? (RWP 2018)

Q:147 B SCUIS lnceinotipniin-riammals? SWL 2022)
GNARY CHANGES IN ARRANGEMENT OF BONES AND
RELATED MODE OF LOCOMOTION IN MAJOR GROUPS OF

KIPS SHORT QUESTIONS

Q:148 What is formen triosseum? Which bones combine to make it?

Ans. Formen Triosseum: It is an opening in birds through which supra coracoid muscles
passes. It helps in lifting action.
Bones: It is formed between scapula, coracoid and clavicle bones.

PAST PAPER SHORT QUESTIONS
Q:149 What is formen triosseum? Give its function. (LHR 2017)
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